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A ring of stepping stones has 14 stones in it, as shown in the diagram below.

A girl hops around the ring, stopping to change feet every time she has made 3 hops.
She notices that when she has been round the ring three times, she has stopped to change
feet on each one of the 14 stones.
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The girl now hops round the ring, stopping to change feet every time she has made
4 hops. Explain why in this case she will not stop on each one of the 14 stones, no
matter how long she continues hopping round the ring.

The girl stops to change feet every time she has made n hops. For which values of n
will she stop on each one of the 14 stones to change feet?

Find a general rule for stepping on each stone for the values of n hops when the ring
contains more (or less) than 14 stones.








